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Q1) For the circuit shown in Fig. 1
J 1) The value of Ix in A is

- 2/@1.33 .2 d.-133 @-\
2) Ry in mE between a and b is’

.250 p 4444 ¢.500 d.none

3) The maximum power transfer in J;LQ to the
load is

a.1.7776 b.14.2 @28.4 @none
The current i(t) through the network in Fig. 2. 1 i
4) the eguivalent inducter-sce a g

a. 0.588  b.0.645 Qs none

5) the voltage V(t) in Volts for eriod of [0,3ms]
a. -10.66 b.-333 " ¢ 333 10.66 €. none

6) the voltgge Vx(t) in Volts for the period of [3ms, 6ms \JK
a.-2.22 @6 66 c.2.22  (d}-6.66 e none

7) the energy stored in uJ in the equivalent inducteér at t =3 ms
a. -32 b. 32 c. -64 64 e. none
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For the circuit shown in Fig. 3 under dc conditions
(All resistors are in Q ,C;=C,= EE.E and Li=L,=2mH )

8) The voltage V¢ across the capacitor C; is/ 4 P
a, 10V b.12V @18 \% d. 30 \L}téne

9) The energy stored in the capacitor C; i
a. none b.0J  c0.144mJ(d)0.324

10) The energy stored in the inductor L, is
a. 56mJ b.0J  ¢.25mJ @PmJ ) ngne wﬁ

For the circuit shown in Fig. 4 under d¢ conditioﬂ{ ‘:"“)

11) the value of R in Q that will make tf:/‘irgy stored in
the capacitor.the same as that stored “inthe inductor

a. -5 @5 @bqtha_andb d.3 “e.- /&one

SA

12) The voltage through the capacitor is /
a. 3235 (B}7.142 ()17.857 d.None

13) The energy stored in the inductor is

a. 56 mJ b.0J c.25mJ d@mJ e) none



'V Q2) Consider the circuit shown below ' (9 marks)
a. Draw the equivalent Thevenin’s circuit

b. Find the value of the load resistance R such that power transfer to Ry.is P=20mW.
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Qz- \ The switch in the circuit shown in Fig. P7 51 has (QI May ks) .

been closed a long time before opening at L =2 0.
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| e) 11(0+)
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